[image: image1.png]Identify whether the following statements are true or false by selecting the correct options from the
drop-down lsts.
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CBA Practice test model answers 

Personal Tax (PTX) 2


Section 1

Task 1.1
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Task 1.2
[image: image2.png]Identify whether the following statements are true or false by selecting the correct options from the
drop-down lsts.

An accountant may never disclose any information about a client or their tax affairs without their consent.

2

An accountant can discuss a client's tax affairs without consent provided itis to an immediats family member.

e




Task 1.3
[image: image3.png]Tick the correct answer to complete both the following statements.

A contract of service applies to

Employees

Independent contractors

Employers

A contract for senvice applies to

Employess

Independent contractors

Employers





Task 1.4
[image: image4.png]Complete the following sentences:

The basis of assessment for salaries is the basis.

Hany received the following bonuses based on the accounting year end of the company:

e of payment Accounting year end

3t arch 2008 31 January 2008 3,000]
[7 April 2009 31 January 2009 2,800
|4 Apri 2010 31 January 2010 4,200]

The amounttaxable during 200910 is £ [7000

Veronica recved an annual salay o£27,300. On 15t December 2008, she received a 3% payrise
Hertasatle salaryfor 2009110 1 £ 27573





Task 1.5
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Task 1.6
[image: image6.png](a) Select the appropriate option from the choices below.

2800

28850

21,250

21,850

When accommodation is purchased by an employer, whatis the value ofthe property ahove which an
additional benefitis applied?

(b) Select the appropriate option from the choices below.

250,000

270,000

275,000

2100000





Task 1.6 (continued)
[image: image7.png](c) Select the appropriate option from the choices below.

Yes  No

Accommodation provided for al dirsctors

Ethel was providsd with accommodation (which is not ob related) by her employer. The flat has an annual
value of £4,200 and the employer pays a rent o7 £300 per month. She pays £100 per month towards the
private use of he flat.

(@) Whatis her taxable benefitfor 2009/102 Select the appropriate option from the choices below.

22,400

23,000

23,600

24,200

26,600





Task 1.6 (continued)
[image: image8.png](2) Which two of the following statements are correct? Select the appropriate option from the choices
below.

Fumiture provided by an employer is taxed at 20% per annum ofthe market value.

Furniture provided by an employer is taxed on the costta the employer inthe year of purchase.

Expenses paid for by the employer are taxed at 20% per annum of the cost.

Expenses paid for by the employer are taxed onthe costto the emplayer.





Task 1.7
[image: image9.png]Drag and drop any expenses which you would consider to be tax-free into the left-hand box.

Employers contibution towards pension scheme

Long senice awards (o £50 per year of senvice

One mobile phone

Removal expenses to £8,000

Long senice award to £100 per year of senvice

[Two mobile phones





Task 1.8

[image: image10.png](a) To be deductible, expenses should b

Whally and necessaril incurred

Whally and exclusively incurred

Exclusively and necessarily incurred

Wholly, exclusively and necessarily incurred

When expenses are reimbursed by an employer, HMRC allows for dispensation treatrment of that expense.

(b) The definition of this is which one of the followi

?

#sthe expenses automatically cancel outthe original sxpenditure, the details do not need to be
entered on the tax retum.

#s the expenses automatically cancel outthe original expenditure, all dstails do need to be entered on
the tax retum, but no taximplications are expected

#s the expenses usually excesd the original expendiure, the employee should expect to pay tax on the
reimbursed amount,

s the expenses do not usually exceed the original expenditure, the employee should expectto gettax
reliefon the reimbursed amount.





Task 1.8 continued
[image: image11.png]{c) Which of the following statements applies to payroll giving schemes?

“The employee recefves automalic tax relief on the amount paid into this scheme.

“The employer receives automatic tax relief on the amount paid into this scheme,

“The amount of the payment is deducted from the employee’s salary by the emplayer.

‘The amount of the payment is added to the employee's salary by the emplayer.





Task 1.9

[image: image12.png]Calculate the gross amount of income for each source.

Amount received Gross account
Source

i 3
Bank account 185.00] 29125
Nationl Savings and Investment ed rate savings bond 12000] 275
Buiing society 11800] 1479
oits 305.00] 305





Task 1.10

[image: image13.png](a) Complete the following sentence.

“The tax deducted at source from didends is at [10 | %

(b) For the following tick if t s true or false.

An individual who is exempt from tax can electto receive their dividends gross.

True

False







Task 1.11

[image: image14.png]{a) Complete the following sentence.

To be exempt rom tax, the maximurn that can be invested in a cash 1A account by an individual who is

42 years ofage for 20091015 £ [3600]

(b) Identify whether the following statement is true of false by selecting the correct option from the drop-
downlist.

Irrespective ofthe amount of money involved, an individual's winnings from betting on a horse race is
subjectto tax.





Task 1.12
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Section 1. Tasks and Questions.

Karen received employment income of £35,000 during 2009/10. She also received dividends of£198. She
was 33 years old and paid 6% of her salary into an occupational pension scheme

Calculate her total income tax liability for 2009/10, entering your workings into the blank table below.
You have been given more space than you will need.
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Task 1.13
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Task 1.14
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 Task 1.14 Continued
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← Either
← or
Task 2.1
[image: image15.png]Select the correct option from the drop down list.

True orfalse:  Praperty income thatis due to be received in March 2010, butis actually received in
May 2010, will e taxed in the 200910 tax year.





Task 2.2

[image: image16.png]Three bedroom bungalow

(1) This unfurnished bungalow s rented outfor £450 per month. The property was occupied from 1 April butthe
tenants maved out suddenly, owing the rentfor June and July. Graeme knows he will not be able to recaver
this rent. The property was let again from 1 October ta another family, also at £40 per manth,

(2) The anly expense paid by Graeme on the bungalow was insurance of £300.
Two bedroom flat

(1) This unfurnished fiatis rented outfor £525 per month. A couple moved in on 1 July on a twelve month
lease.

(2) Graeme paid insurance of£270 and 4% letting commissionta an agent.

Calculate the profit or loss made on the property.
1 any figure is zero please input the figure 0 in the box.

Bungalow Fiat
® £

Incorne 3600 25

Epenses

Insurance a0 20

commission 199

Prott 3300 a6





Task 2.3

[image: image17.png]For each of the following, which method is the most tax advantageous?

Rt recened ctusoxpenses ——
6,400 1,000
5900 4,500
7,200 3,800
4100 5000 %





Task 2.4

[image: image18.png]Indicate whether each of the following is a chargeable asset or an exempt asset.

Chargeable asset  Exempt asset

An individual’s second home

Chattels where the praceeds and cost are £5,000 and £4,000 respectively





Task 2.5

[image: image19.png](a) Using this information, select the correct answer to the following statement by ticking the appropriate box.

The gain on this assst s

£250,000

270,000

2120000





Task 2.5 (continued)

[image: image20.png]Andrea bought an asset in January 2000 for £26,000, selling itin Decernber 2008 for £45,000. She paid
auctioneer's commission of 3% when she bought the asset and 5% when she sold the asset

(b) Using this

nation, select the correct answer to the following statement by tick

g the appropriate box.

The gain on this assst s

220470

215970

217,530

210,000





[image: image21.png](¢) Indicate whether the following statement s true or false by ticking the appropriate box.

Adverlising costs are not an allowable deduction as they are revenue expenses.

True

False





Task 2.6
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Candidate No: 1234656 © Que

Lesley bought 2,000 shares in Johnston Ltd for £26 per share in March 2000. He received a rights issue of 1
for 5 shares in January 2005, costing £10 per share. In August 2009, Lesley sold 1,800 shares for £22 per
share.

Clearly showing the balance of shares and their value to carry forward, calculate the gain made on the
‘sale of the shares. All workings must be shown in your calculations.

No. of shares

tor Breview

[5] [Warch 2.000] 52,000
[o] [Rights 00| %000 o
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2] yeing aax
B B T o Bse |8 i |
m Main Scene (882P110851).
[Batance 500 72.000]
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Task 2.7

[image: image23.png]Calculate the folloy

The cost ofthe land sold s £|

The chargeable gain is

£

ing figures.

5455

8545





Task 2.8

[image: image24.png]Calculate the following periods

#ctualresidence  [17g | months

Deemedresidence [35 | months.

Chargeable period  [14 | months.





Task 2.9

[image: image25.png]{a) Select the correct option from the drop down list.

Ataxpayer has £8,000 of capital Iosses brought forward. In 2009110 he has net gains o7£6,200 and
thersfore he must apply the I0ss to his net gains and lose his annual exemption.

ANigh rate taxpayer wil have to pay Capital Gains Taxat

(b) Calculate the following figure.

Ataxpayer has £12,000 of capital gain in 2008/10. What will be the Capital Gains Tax payable?

£ 342





Task 1.14 Continued











